MHR

No.1
PRERE £ FR Hig B4 | B0HE | EEHE & &
E SRET1284|HPPE(EFZOM K ZEE) L=500m ®50 x 9
BoKEMHKXTL |HPPE(EE) L=5.00m ¢ 50 x 3
HiVP  L=4.00m @50 x 1
HiVP  L=4.00m @25 y:N 1
EFF—X (M%) ®50% ¢ 50 Y. 1
AHEE (R EA) ¢ 50 x 45° & 1
ANEHE (REER) ¢ 50 x 45° & 1
ERERAHBME PXV) ® 50 x 45° & 2
VsSTaq ok @50 1& 1
SKXU 4wk (R x 5E ) sy g Blq>a7 it g 50(P) X ¢ 25(V) & 1 XRFHULE
MC1=#> ¢ 50 & 1
HiTJLAR 25 & 2
BARI—b W=150S m 61.8 58.4+19+15

HYUHBBET 650 [SAETYIH ¢ 50 H 2
BhlHVryk(RUER) 17 ®50 & 4
TtUH=E H=600 #H 2
HwAKkUETL HRILEF2KE GRUER) $50% P25 & 1
" ¢ 50x%x ¢ 20 & 2
IZRDIAUb ®25 {& 1
17 ¢ 20 & 2

HiVP  L=4.00m ®25 ¥:N 1 3.0m#ER(3.0m x 144 )

" @20 ¥ 2 6.0m7AE%(3.0m x 244 )
HiV vk @25 1@ 1
17 ¢ 20 & 2
" d20x 913 & 1
HiTJLAR b 25 & 2
" ¢ 20 & 4

BRI —b W=150S & 75 7.5m#E%(2.5m x 3% )




HHE

No.1
BRIR A Z2E g B | 293 E | ER¥E & =
i SRE2ER|RIIFLUOEREKL ®50 m 58.4
BEKEHRRLT |RUIFLUEHMFI (REES) $50 1O0#F [ O 9
" $50 20#F | &HFAF 1
RUTFLUEYERT ®50 A 6
AN=HIBFT GRYER) ®50 A 4
AN=HIHBFT (EEER) ®50 A 6
RUTFLUOEMRFT @50 A 1
" ®25 A 1
E-—ILEMERT ®50 m 19
" ¢ 25 m 15
TSH#FT ®25 A 4
EHHRI—K W=150S m 61.8 584+19+15
BKEERT HKERE H 0.03 61.8m/2000H =0.03H
EOFBRET 50U FERETL ®50 = 2
RUTFLUEMRFT ®50 A 4
HENOERERLAHES ®50 A 4
FEHRET H=600 # 2
BHERE ® 2
HwKkoET YRILDKEFZELGGRIER) d50% 25 & 1
" ®50% ¢20 & 2
HENOEERLAHES ®25 A 1
" ®20 A 2
E-—ILEMET @25 m 3.0 30m#ER(B.0m X 144 )
" ¢ 20 m 6.0 6.0m7ER(B.0mx 244 )
TSH#FT ®25 A 6
" ®20 | 13
" 13 | 1
EHRHRI—K W=150S m 75 7.5m#E%(2.5m x 345 )




T I #H = X No.1

£ Ea HO% # B 4 = REHHE
TiE SRET125E
BKEMRT |HMHEKETL H=600 rED 060 m X 0723 m X 551 m = 2390 m3
HrE® 060 m x 0723 m X 67 m = 291 m3
&it = 2681 m3 30
HWERLT BAL Li{[O) 060 m X 0263 m X 551 m = 869 m3
B E Q@ 060 m x 0263 m X 67 m = 1.06 m3
&it = 9.75 m3 10
HHIERLT FET FrE® 060 m X 0290 m X 551 m = 959 m3
HrEQ 060 m X 0290 m X 67 m = 117 m3
&it = 10.75 m3 10
RLIMET = 1486 m3 10
TEREREID. @) t=10cm RC-30 060 m x 618 m = 3708 m2 37
LEBRET (D) t=Tcm M-30 060 m x 551 m = 3306 m2 33
LERET(Q) t=8cm M-30 060 m x 67 m = 402 m2
RAsEET (@) t=3cm FHAI 060 m X 67 m = 402 m2 4
ABEIBASSHET (AHEL)(@)|  t=4om oab il 080 m x 6.7 m = 536 m2 5
AsERERR I T () t=4cm 67 m X 4 % = 26.80 m 27
AsEHEE IR T (Q) t=4cm 080 m X 67 m = 536 m2 5
RAsEHE IR BT () t=3cm 060 m X 6.7 m = 402 m2 4
AsEREE- 05 T = 034 m3 0.3
HKERET [HEBKEL H=600 060 m X 0723 m X 75 m = 325 m3 3
HWIERLT BAL 060 m X 0263 m X 75 m = 118 m3 1
HWIERLT FEL 060 m X 0290 m X 75 m = 131 m3 1
KIET = 1.80 m3 2
TERET t=10cm RC-30 060 m x 75 m = 450 m2 5
LERET t=Tcm M-30 060 m x 75 m = 450 m2 5




MHR

No.2
PRERE £ FR Hig B4 | B0HE | EEHE w &
Tl S RAT13S4 HPPE(EFZ O HZEE) L=5.00m ¢ 50 VN 9
BKEHMHZT |HPPE(EE) L=5.00m ®50 VN 1
EFSAU R (M 52) @ 50 X 300H & 1
EFF—X (M 5%) ®50% ¢ 50 & 1
nIKEFYYT ®50 & 1
AR —k 50.4 499405
HUHFBET ¢ 50| FEKTFE (BEXER) BlF $100% ¢50 1
R CE 3B @50 & 2
HhLHFVrykGRUER) 42a7 ¢ 50 & 5 XEFMRLULE
TtUH=E H=600 = 2
WAKUIBT (YRR KE GRUER) $50x ¢ 20 & 2
ISAYIAUh ®20 & 2
HiVP  L=4.00m ®20 p:N 1 2.0m#E&(1.0m x 244)
HiV vk ®20 & 2
SKXV/ryh(IBEE x fHE) ®20(V)x ¢ 13(G)| & 1 KRFEmMUL
HiTJLAR 20 & 4
ARV —b W=150S & 1.0 1.0m#fE%(0.5m X 244)




FIEE No.2
BRER A &M A B | 293 E | ER#E & =
i SREERKR|RIIFLUOEREKTL ®50 m 499
BEKEHRRLT |RUIFLUEHMFI (REES) $50 1O0#F [ O 9
17 ¢50 20#F | &FF 2
RUTFLUEYERT ®50 A 3
RUIFLUOEMFT ®50 A 1 TEKBERLEAV vk
EHRI—K W=150S m 50.4 499405
BKERERT HKERE H 0.03 50.4m/2000H =0.03H
U FERE T ¢ 50| FHIKTFERE L (FEBIFM) @100 x ¢ 50 = 1
U HRET ®50 = 2
RUIFLUOEMFT ®50 A 4
HE/NORERCAAES ®50 A 6 TEKEBRLAVT YN, SKRF vy THED
AEFRET H=600 #A 2
BHERE ® 2
HwAKkoET YRILDKEFELGGRIER) $50% ¢ 20 & 2
HE/NORERCAAES ®20 A 2
E-—ILEMET ®20 m 2.0 2.0m#7E%(1.0m X 244)
TSHFT ®20 A 12
RUTFLUOEMRFT @20 A 1
" ¢13 ] 1
EHHRI—K W=150S m 1.0 1.0m#E%(0.5m % 24%)




ilﬂii No.2

£ Ea BO® # B % = REHHE
TiE SR
BKEMHRT |HMHEKETL H=600 rED 060 m X 0723 m X 57 m = 247 m3
HrEQ 060 m X 0723 m X 433 m = 18.78 m3
B E 060 m x 0713 m X 34 m = 145 m3
&it = 2271 m3 20
HHIERLT BAL rE® 060 m X 0263 m X 57 m = 090 m3
HrEQ 060 m X 0263 m X 433 m = 6.83 m3
B E 060 m x 0263 m X 34 m = 054 m3
&it = 827 m3 8
HHIERLT FET FrE® 060 m X 0290 m X 57 m = 099 m3
HrE® 060 m x 0290 m X 433 m = 753 m3
&it = 853 m3 9
RLIMET = 1324 m3 10
TEEREITD. Q) t=10cm RC-30 060 m x 490 m = 29.40 m2 29
TEREREI®) t=15¢cm TSR 060 m x 34 m = 204 m2
TREEEI®) t=15¢cm RC-40 060 m x 34 m = 204 m2
FEBRET@) t=7cm M-30 060 m X 57 m = 342 m2
TERET@) t=8cm M-30 060 m X 433 m = 2598 m2 26
LEBRETQ) t=17cm M-40 060 m x 34 m = 204 m2 2
RASSEET t=3cm A A 060 m x 467 m = 28.02 m2 28
AEIBASHET (AAEI)@) t=4cm ol 080 m X 433 m = 3464 m2 35
AEIBASEHET (AHEL) (@) t=5cm 2R 150 m X 34 m = 510 m2 5
AsSHEERR T T t=4cm 433 m X 4 & = 17320 m 173
AsShEERRTIET T t=5cm 34 m X 4 % = 1360 m 14
AsEhEE IR T t=4cm 080 m X 433 m = 3464 m2 35
AsEEERRIRRE T t=5cm 150 m X 34 m = 510 m 5
{RAsEHEE R B T t=3cm 060 m X 46.7 m = 28.02 m2 28
AsEREE- 05 T = 248 m3 2
FKEMERT  |HWEKREL H=600 060 m X 0686 m X 10 m = 041 m3 0.4
HWIERLT BAL 060 m X 0226 m X 10 m = 014 m3 0.1
HWERLT H=600 060 m X 0290 m X 10m = 0.17 m3 0.2
KIET = 022 m3 0.2
TEERET t=10cm RC-30 060 m x 10 m = 060 m2 0.6
LERET t=Tcm M-30 060 m x 10 m = 060 m2 0.6
RAsEHET t=3cm FHAI 060 m X 10 m = 060 m2 0.6
AEIHAsHET (ANAKEI] t=4cm 2R 080 m X 10 m = 080 m2 0.8
AsSHEERR T T t=4cm 100 m X 4 & = 400 m 4
AsEEERRIRRE T t=4cm 080 m X 1.0 m = 080 m2 038
{RAsEHEE R B T t=3cm 060 m X 10 m = 060 m2 0.6
AsEREE- 05 T B (km) = 005 m3 0.1




MHE

No.3
BRIRE B FR & B | Z0H=E | EEH=E & &
HE HHET10S#|HPPE(EFZOM A ZEE) L=5.00m ®50 x 21
BoKEHHRTLT |HPPE(EE) L=5.00m @50 p:N 2
EFSRUR (%) ¢ 50 x 600H & 1
AHEEE GRYER) @ 50 x 45° & 1
EREERAHNTHEPXV) & 50 x 45° & 1
MC1=#> ® 50 & 1
KXYV T 25 & 1
BRI —b W=150S m 1143 105.0+8.5+0.8

HYFHET ¢ 50 | REKTEE SE8ER) 8IS+ ®100x ¢50 | H 1
HRLHFVTryrGRUER) 17+ ¢ 50 & 1
HRELF ®50 A 2
HRLHFVTyEGRUER) 1> a7+ ¢ 50 & 4
toH=E H=600 #A 2
kBT HRILIFHKE GRUER) $50x ¢20 & 12
ISRTaqok 20 & 12

HiVP  L=4.00m ®20 p:N 6 24 0m#TER(2.5m X 644 . 1.5m X 644)
HiY 4 vk ®20 & 12
" $20x 13 & 2
HiTZJLAR ®20 1& 24

BRI —b W=150S m 18.0 18.0m#E%(2.0m x 644 1.0m x 644)




FHIEE No.3
BRIR A Z2E g B | 293 E | ER¥E & =
iE BHEN0SKR|KRIIFLOERRT ¢ 50 m 1135 105.0+8.5
BEKEHRBZL |RUIFLOERFI(REES) $50 1OMF [ O 21
" $50 20#F | &HFAF 1
RUTFLUEYERT ®50 A 5
AN=HIBFT GRYER) ®50 A 3
AN=HIHBFT (EEER) ®50 A 1
RUTFLUOEMRFT ®50 A 1 TEKBERLEAV vk
HE/NORERCAAES @25 A 1 NKEFYYTH
EHRI—K m 114.3 105.0+8.5+0.8
BKERERT HKERE H 0.06 114.3m/2,0008=0.06 B
HUFBRETL ¢ 50 | FWKTFERETL EIFM) @100 x ¢ 50 = 1
U HHRET ®50 = 2
RUTFLUOEMRFT ®50 A 4
HE/NORERCAAES ®50 A 5 T¥KEBBRLAV IR ED
AEFRET H=600 #A 2
BHERE ® 2
HwAKkoET YRILDKEFELGGRIER) $50% ¢ 20 & 12
HENOEERLAH#ES ®20 A 12
E-—ILEMET ®20 m 240 24.0m#E%(2.5m x 644, 1.5m X 644)
TSHFFET ®20 A 74
" »13 A 2
EHHRI—K m 18.0 18.0m#E%(2.0m x 644, 1.0m x 644)




T T HE X No.3
£ TR BO® W B # =3 B
HiE HHET105H#
BKEMBET Wt B4 T H=600 Es:ﬁﬁ(D 060 m 0723 m X 109.5 m 4750 m3
¥E 060 m X 0723 m X 68 m = 295 m3
&it = 50.45 m3 50
ST AL Es:ﬁﬁd) 060 m 0263 m X 1095 m = 17.28 m3
WE 060 m X 0263 m X 68 m = 107 m3
&it = 18.35 m3 20
EE T St wrE® 060 m 0290 m X 1095 m = 1905 m3
¥E 060 m X 0360 m X 68 m = 147 m3
At = 2052 m3 20
EFiuoET = 2765 m3 30
TEREET (Had. ) t=10cm RC-30 060 m x 1163 m = 69.78 m2 70
ITE®RET (FHEd) t=Tcm M-30 060 m X 109.5 m = 65.70 m?2 66
tERET (HEO) t=8cm RC-30 060 m X 6.8 m = 408 m2 4
RAsHZET (WE®) t=3cm FRAHL 060 m X 68 m = 408 m2 4
AEIRAsTHET (ANAEI] t=4cm oo 080 m X 68 m = 544 m2 5
AsEiZE R U1 T t=4cm 68 m X 4 % = 2720 m 27
AsEHEERRER T t=4cm 080 m X 6.8 m = 544 m?2 5
R As TSR IR B R T t=3cm 060 m X 6.8 m = 408 m2 4
AsERETEM -0 T = 034 m3 0.3
WKEMZL |[HMWKEL H=600 060 m X 0686 m X 180 m = 741 m3 7
BHERLT BAL 060 m X 0226 m X 180 m = 244 m3 2
BEWIERLT H=600 060 m X 0290 m X 180 m = 313 m3 3
EFiuoET = 393 m3 4
TRERET t=10cm RC-30 060 m X 180 m = 1080 m2 11
tERET t=7cm M-30 060 m X 180 m = 1080 m2 11
RAsEHZET t=3cm FH AT m X m = 000 m2
AEIRAsTHET (ANAEI] t=4cm oo m X m = 000 m2
AsEHZERR YT T t=4cm m X & = 000 m
AsEHEERREE T t=4cm m X m = 000 m2
{RAsEHIERRIE R T t=3cm m X m = 000 m2
AsERETEM -0 T 000 m3




50 HPPE Fd /K %

b E K Belid o THE A RAT12 5
UEE (m) DIHNTJ
BOEM B R |0 ERE SR | I %
A
-1 Z.-1 Z.-2 Z.-3 Z—4 (OO (m)
HPPE 50 5. 000 4. 000 0. 700 4. 700 0. 300 2 1
(=g
HPPE
= 50
0 g oE
%
z-1 z.-2 Z-3 4 Z-5 HEE|  5.000
HPPE 50 5. 000 1.500 1. 500 1. 600 4. 600 0. 400 3
HPPE 50 5. 000 4. 100 4. 100 0. 900 1
HPPE 50 5. 000 5. 000 5. 000
2 20. 000 14. 600 2. 200 1. 600 18. 400 1. 600 6
20. 000 14. 600 2. 200 1. 600 18. 400 1. 600 6




650 HPPE W /K % 4] & % B T RT3

YEE (m) DHANS
A (m) Bl T "
=) s = o
BOE M B O ERE z u . fii &
5]
-1 Z.-1 Z.-2 Z.-3 2.4 [O=O) (1)
1
EHE
HPPE
R =
%
z.-1 zZ.-2 zZ.-3 z-4 Z.-5 B = 50
HPPE 50 5. 000 2. 200 1. 300 1. 400 4. 900 0. 100 3
HHhE| 5.000
3 5. 000 2. 200 1. 300 1. 400 4.900 0. 100 3

5. 000 2.200 1.300 1. 400 4.900 0. 100 3



50 HPPE Fd /K %

b) & # B T B HRTI0E R
UEE (m) DHNS
7% (m) Y T
=] forcs s 4 e
5 OB M 'O ERE z u . i &
5]
-1 Z.-1 Z.-2 Z.-3 Z—4 (OO (m)
1
ERE
HPPE
= 50
0 g oE
%
Z-1 -2 Z-3 4 Z-5 HuhE| 5.000
HPPE 50 5. 000 3. 200 1. 500 4. 700 0. 300 2
HPPE 50 5. 000 2. 700 0. 600 0. 500 3. 800 1. 200 3
2 10. 000 5. 900 2. 100 0. 500 8. 500 1.500 5
10. 000 5. 900 2. 100 0. 500 8. 500 1. 500




$50 HiVP B K % ) & & Bod TN RATI25
UEE (m) DHNS
=1 ft K N E"S&(m) @JH‘;H‘I
5 OF M B R |I0OERE z u . a i &
Z.-1 Z.-2 Z.-3 Z.—4 Z.-5 (OO (m)
1 HiVP 50 4. 000 1. 400 0. 500 1. 900 2.100 1
ERE
HiVP
B = 50
HEE|  4.000
i 4. 000 1. 400 0. 500 1. 900 2.100
4. 000 1. 400 0. 500 1. 900 2.100




625 HiVP A K & B & & Bod TN RATI25
UEE (m) DHNS
=1 ft K N E"S&(m) @JH‘;H‘I
5 OF M B R |I0OERE z u . a i &
Z.-1 Z.-2 Z.-3 Z.—4 Z.-5 (OO (m)
1 HiVP 25 4. 000 1. 000 0. 500 1. 500 2.500 1
ERE
HiVP
B = 25
HEE|  4.000
i 4. 000 1. 000 0. 500 1. 500 2.500
4. 000 1. 000 0. 500 1. 500 2.500




